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- Grey line: exponential fit Peak flux: 1.105+/- 0.306 c/s/cm? |
L Black line: power law + gauss fit Fluence : 11.94+/- 4.52 c/lcm? |
- Dashed line: power law o ' ) _
| Duration: 34.61+/- 21.31s |
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- Best fluence model: 1. 7
- Best dyration model:| 1 -
| _4‘\“\\# ‘ MH | L\ \\H‘ " l ‘ | H \ ‘H‘ I | _‘L ] M‘ ‘ \H H‘ WL} H H ‘HH | ‘;
R A
; Exponential fit é
= Expon.time: 14.68+/- 8.02s (chi*red= 0.79) =
S | Bt b b e b e g
= WH wﬂ W HHHﬂ wa Hﬁﬂwﬁﬂﬁﬁﬂ W ﬂﬁ ﬁw iy ﬁﬂ it mﬂﬂw w WH i Wﬁ W #ﬂ ﬁHﬂ%ﬁwﬂww mﬁw Hw + Hﬁ% fﬁ Wﬂﬂw Wﬁwwm %WM w WE
; Power law fit é
E Power law index: -1.171+/- 0.577 (chi*red= 0.79) =
- by | W b b b b b b b
= il *#HHHW**H”“*ﬁwﬁ##ﬂﬁwMWHHﬂ ﬁﬁw%WHWWW#H+HHﬂ*ﬁwwwﬂ#ﬁ%ﬂﬁhﬁﬁﬂﬂﬁ R WwwﬂmﬂmﬁwﬂE
i T T T T T T T T T T T T T T T T T T T T T i
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